Biology 1 a week GCSE Higher

structure A

Name: Class: 2" week
The figure below shows the structure ofa  Structure A'is a: Cytosine bonds to?
DNA nucleotide. R

[0 B phosphate

[0 € sugar Adenine bonds to?

[ D polymer

Which label is pointing to the myelin sheath in a motor neurone?

Which part of the brain controls the
heartbeat and breathing?

A Cerebrum
B Hypothalamus
C Medulla

D Pituitary

Which of these is an example of
discontinuous variation?

A Body weight

B Hand span
C Height
D Sex

400 x.

The actual length of the red blood cell from a turtle is 20.5 um.
Calculate the length of the magnified image of the red blood cell of the turtle when magnified

Imagelength=..................
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